

An application of exponential sums over the divisor function

Tippawan Puttasontiphot

Department of Mathematics Statistics and Computer Science,
Faculty of Liberal Arts and Science, Kasetsart University
Kamphaengsan Campus, Nakhonphathom 73140, Thailand
e-mail: faastwpu@ku.ac.th

Received: 4 February 2019 **Revised:** 14 November 2019 **Accepted:** 19 November 2019

Abstract: We apply the rational exponential sums over the divisor function to estimate the average of some arithmetic functions. The method of proof relies on the classic Abel’s summation formula.

Keywords: Average order, Divisor function, Exponential sums.

2010 Mathematics Subject Classification: 11L07, 11N69.

1 Introduction

Let $p > 2$ be prime number and $r \in \mathbb{Z}$. Let $\tau(n)$ denote the divisor function

$$\tau(n) = \sum_{d|n} 1.$$

Let $e_p(z)$ denote the exponential function $\exp(2\pi iz/p)$.

In this paper, we shall present an application of rational exponential sums of the form

$$T_{a,p}(N) = \sum_{n=1}^N e_p(a\tau(n)),$$

where N is sufficiently large. The problem of rational exponential sums over the divisor function is posed by Shparlinski [9]. The congruence properties of the divisor function have been considered in a number of works, see in [4, 6, 7]. The motivation of this paper follows from

the distribution of values of arithmetic function in residue classes. Namely, for a fixed function $f(n)$,

$$S(x, r) := \sum_{\substack{n \leq x \\ f(n) \equiv r \pmod{m}}} 1 \quad (1)$$

for $x > 0$ and $\gcd(r, m) = 1$. In 2016, Shirokov and Gromakovskaya [8] derived the sum (1) by using Perron's formula. The sum (1) can be considered as the exponential sum

$$\sum_{j=0}^{m-1} e_m(-jr) \sum_{n \leq x} e_m(jf(n)).$$

Exponential sum over an arithmetic function is a topic in the number theory (see [2, 3]). In particular, Kerr [5] considered the rational exponential sums over the divisor function

$$T_{a,m}(N) = \sum_{n=1}^N e_m(a\tau(n)), \quad (2)$$

for $(a, m) = 1$ and m odd. Kerr reduced the problem of bounding (2) to bounding the sums

$$S_m(r) = \sum_{n=1}^t e_m(r2^n),$$

where t denotes the order of $2 \pmod{m}$.

In this paper, we shall apply Kerr's results to derive the following sums.

$$\sum_{n \leq N} \tau(n, r, p) := \sum_{n \leq N} \sum_{\substack{d|n \\ \tau(d) \equiv r \pmod{p}}} 1,$$

$$\sum_{n \leq N} \sigma_s(n, r, p) := \sum_{n \leq N} \sum_{\substack{d|n \\ \tau(d) \equiv r \pmod{p}}} \left(\frac{n}{d}\right)^s, \quad \text{for real } s > 0,$$

$$\sum_{n \leq N} \phi(n, r, p) := \sum_{n \leq N} \sum_{\substack{d|n \\ \tau(d) \equiv r \pmod{p}}} \mu(d) \frac{n}{d},$$

where μ denotes the Möbius function.

Here and in the sequel we shall use the notation

$$H(i, p) = \sum_{\substack{q \in Q_p \\ \tau(q) \equiv i \pmod{p}}} \frac{h(q)}{q}, \quad h(q) = \prod_{p|q} \left(1 + \frac{1}{p}\right)^{-1}$$

and Q_p denotes the set of integers n , such that if any prime $q^\theta || n$, then $2 \leq \theta \leq p-1$. Let t denote the order of 2 (mod p) and define $\alpha_t = 1 - \cos(2\pi/t)$. Denote

$$C(j, p) = \frac{6\zeta(p)}{\pi^2 p} \left(\sum_{i=0}^{p-1} H(i, p) S_p(ji) \right)$$

and

$$\delta(r, p) = \sum_{j=1}^{p-1} e_p(-jr) C(j, p).$$

We shall prove the following results.

Theorem 1.1. *Let $p \geq 3$ be prime, let $r \in \mathbb{Z}$. Then, for a positive integer N ,*

$$\sum_{n \leq N} \tau(n, r, p) = \frac{N}{p} (\log N + 2\gamma - 1) + \delta(r, p) (\log N + \gamma - 1) \frac{N}{p} + O\left(\sqrt{N} + N(\log N)^{-\alpha_t}\right).$$

Theorem 1.2. *Let $p \geq 3$ be prime, let $r \in \mathbb{Z}$ and $s > 0$ be a real number. Then, for a positive integer N ,*

$$\sum_{n \leq N} \sigma_s(n, r, p) = \frac{\zeta(s+1)N^{s+1}}{(s+1)p} + \frac{N^{s+1}}{sp} \delta(r, p) + \begin{cases} O(N \log N), & \text{if } s = 1, \\ O(N^z), & \text{if } s \neq 1, \end{cases}$$

where $z = \max(1, s)$.

Theorem 1.3. *Let $p \geq 3$ be prime, let $r \in \mathbb{Z}$. Then, for a positive integer N ,*

$$\sum_{n \leq N} \phi(n, r, p) = \frac{3N^2}{p\pi^2} + \frac{N^2}{p} \sum_{j=1}^{p-1} e_p(-jr) \rho_j + O(N \log N),$$

where for $j = 1, 2, \dots, p-1$

$$\rho_j = \int_1^\infty \sum_{d \leq u} \mu(d) e_p(j\tau(d)) \frac{du}{u^3}.$$

2 Lemmas

The following theorem and lemmas will be used in our results.

Theorem 2.1 ([5, Theorem 2]). *Suppose $p \geq 3$ is prime. Then we have*

$$\sum_{n=1}^N e_p(a\tau(n)) = C(a, p)N + O(pN(\log N)^{-\alpha_t-1}).$$

Lemma 2.2 ([1, Theorem 3.2]). *If $x \geq 1$ we have:*

$$\sum_{n \leq x} \frac{1}{n} = \log x + \gamma + O\left(\frac{1}{x}\right), \quad \gamma \text{ is Euler's constant.} \quad (3)$$

$$\sum_{n \leq x} \frac{1}{n^s} = \frac{x^{1-s}}{1-s} + \zeta(s) + O\left(\frac{1}{x^s}\right) \quad \text{if } s > 0, s \neq 1. \quad (4)$$

$$\sum_{n > x} \frac{1}{n^s} = O\left(\frac{1}{x^{1-s}}\right) \quad \text{if } s > 1. \quad (5)$$

Lemma 2.3 ([1, Theorem 8.1]).

$$\frac{1}{m} \sum_{j=0}^{m-1} e\left(\frac{jn}{m}\right) = \begin{cases} 1 & \text{if } m|n, \\ 0 & \text{otherwise.} \end{cases} \quad (6)$$

3 Proof of Theorem 1.1

Proof. Given N large enough, we have

$$\begin{aligned} \sum_{n \leq N} \tau(n, r, p) &= \sum_{\substack{d, l \\ dl \leq N \\ \tau(d) \equiv r \pmod{p}}} 1 \\ &= S_1 + S_2 - S_3, \end{aligned} \quad (7)$$

where

$$S_1 = \sum_{\substack{d \leq \sqrt{N} \\ \tau(d) \equiv r \pmod{p}}} \sum_{l \leq N/d} 1, \quad S_2 = \sum_{l \leq \sqrt{N}} \sum_{\substack{d \leq N/l \\ \tau(d) \equiv r \pmod{p}}} 1$$

and

$$S_3 = \sum_{\substack{d \leq \sqrt{N} \\ \tau(d) \equiv r \pmod{p}}} \sum_{l \leq \sqrt{N}} 1.$$

In view of the relation (6), we obtain

$$\begin{aligned} S_1 &= \sum_{\substack{d \leq \sqrt{N} \\ \tau(d) \equiv r \pmod{p}}} \left\lfloor \frac{N}{d} \right\rfloor \\ &= \frac{1}{p} \sum_{d \leq \sqrt{N}} \left\lfloor \frac{N}{d} \right\rfloor \sum_{0 \leq j \leq p-1} e_p(j(\tau(d) - r)) \\ &= \frac{N}{p} \sum_{d \leq \sqrt{N}} \frac{1}{d} + \frac{N}{p} \sum_{1 \leq j \leq p-1} e_p(-jr) A_j(N) + O(\sqrt{N}), \end{aligned} \quad (8)$$

where $j = 1, 2, \dots, p-1$

$$A_j(N) = \sum_{d \leq \sqrt{N}} \frac{e_p(j\tau(d))}{d}.$$

From (3), the first sum of (8) is

$$\frac{1}{2p} N \log N + \frac{\gamma N}{p} + O(\sqrt{N}).$$

Now we use Abel's summation formula for $A_j(N)$ and obtain

$$\begin{aligned} A_j(N) &= \sum_{d \leq \sqrt{N}} \frac{e_p(j\tau(d))}{d} \\ &= \frac{1}{\sqrt{N}} \sum_{d \leq \sqrt{N}} e_p(j\tau(d)) + \int_1^{\sqrt{N}} \left(\sum_{d \leq u} e_p(j\tau(d)) \right) \frac{du}{u^2}, \end{aligned}$$

In view of Theorem 2.1, we have, for $j = 1, 2, \dots, p-1$

$$\begin{aligned} A_j(N) &= \frac{1}{\sqrt{N}} \left(C(j, p) \sqrt{N} + O\left(p \sqrt{N} (\log N)^{-\alpha_t - 1}\right) \right) \\ &\quad + \int_1^{\sqrt{N}} \left(C(j, p) u + O\left(p u (\log u)^{-\alpha_t - 1}\right) \right) \frac{du}{u^2}, \\ &= C(j, p) \frac{\log N}{2} + O\left(p (\log N)^{-\alpha_t}\right). \end{aligned}$$

Thus, the second sum is

$$\frac{1}{2p} \sum_{1 \leq j \leq p-1} e_p(-jr) C(j, p) N \log N + O\left(N (\log N)^{-\alpha_t}\right).$$

Thus, we have

$$S_1 = \frac{1}{2p} N \log N + \frac{\gamma N}{p} + \frac{\delta(r, p)}{2p} N \log N + O\left(N^{1/2} + N (\log N)^{-\alpha_t}\right).$$

For S_2 , we use again the relation (6) and (3). Then

$$\begin{aligned} S_2 &= \frac{1}{p} \sum_{l \leq \sqrt{N}} \sum_{d \leq N/l} \sum_{j=0}^{p-1} e_p(j(\tau(d) - r)) \\ &= \frac{1}{p} \sum_{l \leq \sqrt{N}} \left(\frac{N}{l} + O(1) \right) + \frac{1}{p} \sum_{l \leq \sqrt{N}} \sum_{d \leq N/l} \sum_{j=1}^{p-1} e_p(j(\tau(d) - r)) \\ &= \frac{1}{2p} N \log N + \frac{\gamma N}{p} + O(\sqrt{N}) + \frac{1}{p} \sum_{j=1}^{p-1} e_p(-jr) \sum_{l \leq \sqrt{N}} \sum_{d \leq N/l} e_p(j\tau(d)). \end{aligned}$$

We apply Theorem 2.1 to the last inner sum and (3) again. Thus, we have

$$\begin{aligned}
S_2 &= \frac{1}{2p} N \log N + \frac{\gamma N}{p} + O\left(\sqrt{N}\right) \\
&\quad + \frac{1}{p} \sum_{j=1}^{p-1} e_p(-jr) \sum_{l \leq \sqrt{N}} \left(C(j, p) \frac{N}{l} + O\left(p \frac{N}{l} \left(\log \frac{N}{l} \right)^{-\alpha_t - 1} \right) \right) \\
&= \frac{1}{2p} N \log N + \frac{\gamma N}{p} + \frac{\delta(r, p)}{p} N \left(\frac{\log N}{2} + \gamma \right) + O\left(\sqrt{N} + N(\log N)^{-\alpha_t}\right).
\end{aligned}$$

For S_3 , we use the relation (6) and Theorem 2.1. We have

$$\begin{aligned}
S_3 &= \sum_{\substack{d \leq \sqrt{N} \\ \tau(d) \equiv r \pmod{p}}} \sum_{l \leq \sqrt{N}} 1 = \sum_{\substack{d \leq \sqrt{N} \\ \tau(d) \equiv r \pmod{p}}} \left(\sqrt{N} + O(1) \right) \\
&= \frac{1}{p} \sum_{d \leq \sqrt{N}} \left(\sqrt{N} + O(1) \right) + \frac{\sqrt{N} + O(1)}{p} \sum_{j=1}^{p-1} e_p(-jr) \sum_{d \leq \sqrt{N}} e_p(j\tau(d)) \\
&= \frac{N}{p} + O\left(\sqrt{N}\right) + \frac{\sqrt{N} + O(1)}{p} \sum_{j=1}^{p-1} e_p(-jr) \left(C(j, p) \sqrt{N} + O\left(p \sqrt{N} (\log N)^{-\alpha_t - 1} \right) \right) \\
&= \frac{N}{p} + \frac{\delta(r, p) N}{p} + O\left(\sqrt{N} + N(\log N)^{-\alpha_t - 1}\right).
\end{aligned}$$

Substituting S_1 , S_2 and S_3 in (7), then the proof is complete. \square

4 Proof of Theorem 1.2

Proof. Throughout the proof, we detect the congruences by using the relation (6). Let $s > 0$ be a real number. Given N large enough, in view of (4), we have

$$\begin{aligned}
\sum_{n \leq N} \sigma_s(n, r, p) &= \sum_{\substack{d, l \\ d l \leq N \\ \tau(d) \equiv r \pmod{p}}} \left(\frac{n}{d} \right)^s = \sum_{\substack{d \leq N \\ \tau(d) \equiv r \pmod{p}}} \sum_{l \leq N/d} l^s \\
&= \sum_{\substack{d \leq N \\ \tau(d) \equiv r \pmod{p}}} \left(\frac{(N/d)^{s+1}}{s+1} + O\left(\frac{N^s}{d^s} \right) \right).
\end{aligned}$$

Here, we shall consider separately the sum into two subcases.

If $s = 1$,

$$\begin{aligned}
\sum_{n \leq N} \sigma_1(n, r, p) &= \frac{N^2}{2} \sum_{\substack{d \leq N \\ \tau(d) \equiv r \pmod{p}}} \frac{1}{d^2} + O\left(N \sum_{d \leq N} \frac{1}{d} \right) \\
&= \frac{N^2}{2p} \sum_{j=0}^{p-1} e_p(-jr) \sum_{d \leq N} \frac{e_p(j\tau(d))}{d^2} + O(N \log N) \\
&= \frac{N^2}{2p} \sum_{d \leq N} \frac{1}{d^2} + \frac{N^2}{2p} \sum_{j=1}^{p-1} e_p(-jr) \sum_{d \leq N} \frac{e_p(j\tau(d))}{d^2} + O(N \log N).
\end{aligned}$$

The big-oh term follows from (3). In view of (4), the first term is

$$\frac{N^2}{2p} \left(\frac{-1}{N} + \zeta(2) + O(N^{-2}) \right) = \frac{\zeta(2)N^2 - N}{2p} + O(1).$$

We apply Abel's formula and Theorem 2.1. The second term is

$$\begin{aligned} & \frac{N^2}{2p} \sum_{j=1}^{p-1} e_p(-jr) \left(\frac{1}{N^2} \sum_{d \leq N} e_p(j\tau(d)) + 2 \int_1^N \left(\sum_{d \leq u} e_p(j\tau(d)) \frac{du}{u^3} \right) \right) \\ &= \frac{N^2}{2p} \sum_{j=1}^{p-1} e_p(-jr) \left(\frac{1}{N^2} (C(j, p)N + O(N(\log N)^{-\alpha-1})) \right. \\ & \quad \left. + 2 \int_1^N \left((C(j, p)u + O(u(\log u)^{-\alpha-1})) \frac{du}{u^3} \right) \right) \\ &= \frac{2N^2 - N}{2p} \sum_{j=1}^{p-1} e_p(-jr) C(j, p) + O(N(\log N)^{-\alpha-1}). \end{aligned}$$

Collecting all, we have

$$\sum_{n \leq N} \sigma_1(n, r, p) = \frac{\zeta(2)N^2}{2p} + \delta(r, p) \frac{N^2}{p} + O(N \log N).$$

Next, if $s \neq 1$, we set $z = \max(1, s)$. In view of (4), we have

$$\begin{aligned} \sum_{n \leq N} \sigma_s(n, r, p) &= \frac{N^{s+1}}{s+1} \sum_{\substack{d \leq N \\ \tau(d) \equiv r \pmod{p}}} \frac{1}{d^{s+1}} + O \left(N^s \sum_{d \leq N} \frac{1}{d^s} \right) \\ &= \frac{N^{s+1}}{(s+1)p} \sum_{j=0}^{p-1} e_p(-jr) \sum_{d \leq N} \frac{e_p(j\tau(d))}{d^{s+1}} + O \left(N^s \left(\frac{N^{1-s}}{1-s} + \zeta(s) + O(N^{-s}) \right) \right) \\ &= \frac{N^{s+1}}{(s+1)p} \sum_{d \leq N} \frac{1}{d^s} + \frac{N^2}{2p} \sum_{j=1}^{p-1} e_p(-jr) \sum_{d \leq N} \frac{e_p(j\tau(d))}{d^2} + O(N^z). \end{aligned}$$

By same calculation as in the case $s = 1$, we have

$$\sum_{n \leq N} \sigma_s(n, r, p) = \frac{\zeta(s+1)N^{s+1}}{(s+1)p} + \delta(r, p) \frac{N^{s+1}}{sp} + O(N^z).$$

The complete proof follows from the summarizing both cases. □

5 Proof of Theorem 1.3

Proof. Throughout the proof, we detect the congruences by using the relation (6). Given N large enough, we have

$$\begin{aligned}
\sum_{n \leq N} \phi(n, r, p) &= \sum_{\substack{d, l \\ dl \leq N \\ \tau(d) \equiv r^{-1} \pmod{p}}} \mu(d) \frac{n}{d} = \sum_{\substack{d \leq N \\ \tau(d) \equiv r^{-1} \pmod{p}}} \mu(d) \sum_{l \leq N/d} l \\
&= \sum_{\substack{d \leq N \\ \tau(d) \equiv r^{-1} \pmod{p}}} \mu(d) \left(\frac{N^2}{2d^2} + O\left(\frac{N}{d}\right) \right) \\
&= \frac{N^2}{2p} \sum_{j=0}^{p-1} e_p(-jr) \sum_{d \leq N} \frac{\mu(d) e_p(j\tau(d))}{d^2} + O(N \log N) \\
&= \frac{N^2}{2p} \sum_{d \leq N} \frac{\mu(d)}{d^2} + \frac{N^2}{2p} \sum_{j=1}^{p-1} e_p(-jr) \sum_{d \leq N} \mu(d) \frac{e_p(j\tau(d))}{d^2} + O(N \log N).
\end{aligned}$$

We apply the well-known identity

$$\sum_{d \leq N} \frac{\mu(d)}{d^2} = \frac{6}{\pi^2} + O(N)$$

and Abel's summation formula and obtain

$$\begin{aligned}
\sum_{n \leq N} \phi(n, r, p) &= \frac{3N^2}{p\pi^2} + \frac{N^2}{2p} \sum_{j=1}^{p-1} e_p(-jr) \left(\frac{1}{N^2} \sum_{d \leq N} \mu(d) e_p(j\tau(d)) + 2 \int_1^N \sum_{d \leq u} \mu(d) e_p(j\tau(d)) \frac{du}{u^3} \right) \\
&\quad + O(N \log N).
\end{aligned}$$

Since

$$\sum_{d \leq N} \mu(d) e_p(j\tau(d)) = O(N),$$

and (5) the integral is trivially convergent. It follows

$$\int_N^\infty \sum_{d \leq u} \mu(d) e_p(j\tau(d)) \frac{du}{u^3} = O(N^{-1}).$$

Thus

$$\int_1^N \sum_{d \leq u} \mu(d) e_p(j\tau(d)) \frac{du}{u^3} = \int_1^\infty \sum_{d \leq u} \mu(d) e_p(j\tau(d)) \frac{du}{u^3} + O(N^{-1})$$

and

$$\left(\frac{1}{N^2} \sum_{d \leq N} \mu(d) e_p(j\tau(d)) \right) = O(N^{-1}).$$

Collecting all, we have

$$\sum_{n \leq N} \phi(n, r, p) = \frac{3N^2}{p\pi^2} + \frac{N^2}{p} \sum_{j=1}^{p-1} e_p(-jr) \rho_j + O(N \log N),$$

where, for $j = 1, 2, \dots, p - 1$

$$\rho_j = \int_1^\infty \sum_{d \leq u} \mu(d) e_p(j\tau(d)) \frac{du}{u^3}.$$

□

Acknowledgements

The author is very grateful to the anonymous referees for their valuable remarks.

References

- [1] Apostol, T. M. (1976). *Introduction to Analytic Number Theory*, Springer-Verlag, New York.
- [2] Banks, W. D., Harman, G., & Shparlinski, I. E. (2005). Distributional properties of the largest prime factor, *Michigan Math. J.*, 53, 665–681.
- [3] Banks, W. D., & Shparlinski, I. E. (2006). Congruences and rational exponential sums with the Euler function, *Rocky Mountain J. Math.*, 36, 1415–1426.
- [4] Cohen, E. (1961). Arithmetical notes, V. A divisibility property of the divisor function, *Amer. J. Math.*, 83 (4), 693–697.
- [5] Kerr, B. (2013). Rational exponential sums over the divisor function, *arXiv:1309.6021*
- [6] Narkiewicz, W. (1984). *Uniform distribution of sequences of integers in residue classes*, Vol. 1087. Springer-Verlag, New York.
- [7] Sathe, L. G. (1945). On a congruence property of the divisor function, *Amer. J. Math.*, 67 (3), 397–406.
- [8] Shirokov, B. M., & Gromakovskaya, L. A. (2016). Distribution of values of the sum of unitary divisors in residue classes, *Probl. Anal. Issues Anal.* 5 (1), 31–44.
- [9] Shparlinski, I. E. (2010). Open problems on exponential and character sums, *Ser. Number Theory Appl*, 6, 222–242.